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C = 1.0, Lx =20.48, ∆x = 0.01, NX = 2048, ∆t = 0.01, NT = 6400
BFx=1.0, BFy=0.0, BFz=0.0, EFx=0.0, BFy=0.0, BFz=0.0

Ion:            NP = 65536,m = 1836, e =  1, vdx = vdy = vdz = 0.0, vthx = vthy = vthz = 0.01
electron1: NP = 32768,m = 1      , e = -1,           vdy = vdz = 0.0, vthx = vthy = vthz = 0.01
electron2: NP = 32768,m = 1      , e = -1,           vdy = vdz = 0.0, vthx = vthy = vthz = 0.01
 
Wpe,total = 1.0 

1. electron1: vdx =  0.1, electron2: vdx = -0.1 2. electron1: vdx =  0.8, electron2: vdx = -0.8

Example:07_01_1DES.f90 & 10_01_Pusher_Re.90 
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1. electron1: vdx =  0.1, electron2: vdx = -0.1 2. electron1: vdx =  0.8, electron2: vdx = -0.8
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